
 

Circuits Forced Natural Responses

Let's considerthefollowing circuit I
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we have a low pass filter
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Note how the natural frequency location 5 5 jw
affect the natural response time wave form
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How might this kind of circuit be used
Consider a buck power converter
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After natural response dies away we getthe steady
state forced melponse by superposition
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When would we see the natural response in our
buck converter system
At startup of the circuit
after a change e.g step in the inputvoltage
after a change in the load resistance
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